NAME

SCORE

BASELINE \




< BASELINE 5 ...

N 8x5=__ Br 8x8=___ 80+8=___
8x7=__ 8x5=__ 88+8=__
8x8=___ 8x3=___ 64+8=__
8x4=__ 8x4=__ 40+8=__
8x3=___ 8xb=____ 56 +8=__
[ 6] 8x9=___ 8x9=___ 48+8=____
8x11=____ 8x10=____ 16+8=___
BN 8x12=__ 8x/=____ 8+8=__
Ex 8x3=___ 8x2=___ 72+8=___
8x1=____ 8x8=___ 88+8=___
8x8=___ 16+8=____ 56+8=__
8xb=____ 32+8=______ 32+8=____
8x/7=____ 0+8=____ 24+8=___
8x9=__ /2+8=____ 64+-8=__
8x12=____ 80+8=____ 40+8=____
8x11=____ % +8=____ %+8=__
8x2=__ 56+8=___ 80+8=__
8x1=____ 48+8=____ 48+8=____
8x10=____ 24+8=___ 8+8=___
8x9=___ 8+8= Y 16+8=

score: /60 1) ¥

(5 minute limit)

N
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Complete first and then use it to help you if you get stuck.

Name: MULTIPLICATION 1

Date: Practise 8s
gx11=__ 8x9=___
8x1= __ 8x4=___ 8x5=__
8x2= __ 8x10=__ 8x3=__
8x3= 8x8=_ 8x2=_
gxd= —— 8x9=_ 8x12=__
8x5= __

8x1=__ 8x7=____
::i; - 8x3=__ 8x11=____
B s8x8= 8x12=____ 8x1=___
B 8xo- 8x4=__ 8x5=__
8x10= _ 8x9=__ 8x7=__
8x11= ______ 8x8=__ 8x8=__
8x12= _____ 8x7=__ 8x11=___
“““e';e;e;z 8x11=__ 8x10=___
gx12= 8x7=____ 8x6=__
88~ 8x1=__ 8x9=__
oxe. 8x12=__ gxd4=___
8x10= 8x2=__ 8x3=__
8x9=__ 8x5=__ 8x6=___
8x11=___ 8x4=___ 8x9=__
8x3= 8x6= By 8x11=

LD
Rk

Grown-ups:
Can learners spot links
[ between neighbouring
questions?
3

© 2022-23 Maths Circle Ltd. Licensed to Windmill Hill Academy, Launceston.



Complete first and then use it to help you if you get stuck.

X
o
@)
~
w
®)
X

BN 8x1= _ B 1x8= __
B 8x2= _ == W@ 2x8= _
B 8x3= _ = B 3x8= __
B 8x4= _ = W 4x8= __
B 8x5= _ = Wl 5x8= _
@ 8x6= _ 6x8= ____
BA 8x7= __ B 7x8= ____
B 8x8= _ 8x8= __
B 8x9= _ 9x8= __
I 8x10= __  B¥ 10x8= __
B 8x11= _  EBEBY 11x8= __
By 8x12= _  P&¥ 12x8= __
tinueZe)r(eé.z— 7x8=
- gx1= [34] 8x8=__
o 5x8= = 8x9=__
] 8x6=_ E¥ 11x8=__
6x8= 8x12=__
8x5=_ 8x9=__
7x8=__ 8x2=__
8x 4= 1x8=

MULTIPLICATION 2

Practise 8s
3Xx8=

—_

EE BRSNS EEEERRRBEEER
d B N R OB OB B N O HOE BN N O BN BB OB B B

N
%)

N
©

Ul Oy (O] Ul Ul Ul Ul
~ o ul ~ W N

Ul
(0¢]

59

Grown-ups:

Can learners spot links
between neighbouring

questions?

© 2022-23 Maths Circle Ltd. Licensed to Windmill Hill Academy, Launceston.

8§x5=
8§x8=
8§x7=
8x8=
12x8=
8§x4=
2x8=
8§x 1=
5x8=
11 x8=
1x8=
12x8=
7x8=
Ox 8=
6Xx8=
5x 8=
10x8=
3x8=
8x6=

&



Complete first and then use it to help you if you get stuck.

Name:
Date:
8§x =40 8 x
KN 8x _ = =8 | 8x ______=16 I 8x
BN 8x __ =16 | gy 8x =48 ¥ 8x
8x =24 8x ____ =96 8
8% ——— =32 8x ___ =80 8 x
8x =40
s« g 8x __ =72 8 x
B sx -5 |E8x =8 M 8>
msx -6l 8x ____ =56 8 x
B sx =72 8x __ =32 8 x
8x _____ =80 8x =24 8 x
BF 8x _ =88 |BEW 8x = BF 8 x
8x =9 8x =88 8 x
“;“:“ere . 8x =64 8 x
ox  -g 8x ___ =40 8 x
8 x - 80 8% — = 8
8x =9 8x =48 8 x
8x =88 8x _ =56 8 x
8x =64 8x __ =72 8 x
8x ____ =56 8x __ =96 [ 8x
Grown-ups:

LD
Rk

Can learners spot links
between neighbouring
questions?

|

© 2022-23 Maths Circle Ltd. Licensed to Windmill Hill Academy, Launceston.

MISSING NUMBER 1

Practise 8s

=16

=24
=8

= 40
=56
=32
= 64
=96
= 80
=72
= 48
=24
= 88
= 64
=16
=56
= 40
= 64
=72
= 80

=¥

5



Name: MISSING NUMBER 2

Date:

EROCKBOX [

8 x =8 1% =8 8 x

‘“ 8 x =16 N 2x =16 8 x

| B 8~ =24 I 3x =24 .
LEE =32 N 4x =32 .

| 8~ = 40 5 x = 40

Jm 8x = 48 6 x = 48 >

4@ 8x = 56 7 % = 56 8>

1@\ s~ = 64 8 x = 64 1%

8 x =72 9 x =72 8 x

8 x =80 E& 10x = 80 8 x

8 x =83 EH 11 = 88 8 x

8 x =96 B 12x = 96 8 x
Continue here... g x

8x__ =72 1x =8

9 x =72 EE 1% =88 8

8 x = 48 Ox_____ =72 8

7 % =56 8 x -9 2%
8x__ =64 8x___ =56 8x___
8 x =88 5x__ =40 Tx___
EF 12x =96 8x___ =48 Ox__
8 x - 3 x =24 [E@ 12x

Grown-ups:
[ ] Can learners spot links
[ between neighbouring
questions?

© 2022-23 Maths Circle Ltd. Licensed to Windmill Hill Academy, Launceston.

Practise 8s
=32

=16
=04

=96

__ =48
__ =56
_ =7
__ -88

=80



Complete first and then use it to help you if you get stuck.

Q{Z SCORE: |

Can learners spot links
between neighbouring

questions?

© 2022-23 Maths Circle Ltd. Licensed to Windmill Hill Academy, Launceston.

DIVISION 1
Date Practise 8s
88+8=___ 72+8=__
8+8= __ 72+8=___ 64+8=__
16+8= 40+8=__ 16+8=__
24+8= 32+8=__ 48+8=
32787 —— 24+8=_ 56+8=
40+8= __

B :5- 48 + - 48+8=__
s6:8= %+8=___ 40+8=__
B ci-8= 64+8=__ 64+8=__
B 72-8= 32+8=____ 16+8=___
80+8= _ 80+8=___ 8+8=___
88+8= __ 88+8=__ 32+8=____
AR — 72+8=_____ 72+8=__
““”‘;gefé': 56+8=_ 24+8=_
6a:8= 8+8=___ 64+8=__
80+ 8 = 40+8=__ 88+8=__
igege 64+8=__ 80+8=__
88+8= 9%+8=___ %+8=__
8+8=_ 24+8=_____ 56+8=__
24+8=__ 8+8=__ 40+8=__

56+8=____ E¥ 48+ By 48+8=
Grown-ups:

&



Name:
Date

%ll 8+8= [ 2] 8+1=

é!ﬂ 16+ 8= B 16+:2-=

im  24-:8- B 24:3-

4EM  32+8- B 32:4-

B 40-:8-= @ 40:5=

%ﬂﬂ 48 + 8 = I 48+6=

%ma 56 + 8 = B 56+7=

uﬂE 64+ 8= B 64+8=

B 72+8= B 72:9=

19| 80+8= B 80+10=

121 ] 88+8= By 88+11=

= 9 + 8= Bl 9% +12=
Continue here...

40+5=__ 48+6=__
24+8=__ 40+8=___
40+8=___ 48+8=__
80+8=___ 72+9=__
ey 24+3=___ B 88+11=____
8+8=___ 72+8=___
131 ] 8+1=____ BX 32+8=__

16+8=____ E¥ 56+7=

Q{Z SCORE: |
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N
N AN

N
w

EE RSN EREEEREEREEEEREA
a N N O OB OB OB ONM O OHOEE OB O N O B B B N B

N
0%

N
©

Ul Ul Ul Ul Ul Ul Ul Ul
oo ~l o Ul AN w N

(o)
O

Grown-ups

DIVISION 2

Practise 8s
64+ 8 =

48 +6 =
40+ 8=
9% +12 =
80+8=
24+ 8=
56 +8 =

8+1=
88 +8=
32+4=
32+8=
64 +8 =
72+9=
64+ 8=
80+ 8=
48 + 8 =
16+2=
24+ 3=
56+ 8=
40+5=

between neighbouring

Can learners spot links
questions?
8



N_\A;;J;é_\é_\
EEEEEREEREREERRERAERRREER

CHECK 1 &~ ...

8x8=_ BN 8x8=__ 16+8=__
8xb6=____ 8x10=____ 80+8=___
8x5=___ 8x12=____ 64+8=__
8x4=__ 8x9=__ 8+8=____
8x3=___ 8x7=____ 40+8=___
8x6=____ 8x9=__ /2+8=___
8x7=___ 8x5=__ 56 +8=___
8x10=___ 8x4=__ 8+8=__
8x12=____ 8x3=___ 80+8=___
8x1=____ 8xb=____ %+8=__
8x9=__ 24+8=___ 32+8=____
8x2=____ 48+8=____ 48+8=___
8x11=____ /2+8=____ 40+8=___
8x7=____ 40+8=_____ 24+8=___
8x9=__ 64+8=___ 80+8=___
8x4=__ 8+8=___ 88+8=___
8x3=__ 88+8=__ 72+8=___
8xb6=____ % +8=___ 56+8=__
8x1=____ 64+8=__ 16+8=___
8x5=___ 32+8= Yy 32+8=

score: 760 [T ¥

(5 minute limit)

No)
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Name:
Date:
1] 5x8= Bl 8x10= 41 ]
[ 2] 3x8=_____ £ 1x8=__ &
Ex 8x3=___ B 2x8=___  B=
7x8=___ 8x4=__
4x8=______ 6x8=___
[ 6] 8x7=____ = H 8x9=__ = M
| 7] 8x5=__ BA 12x8=___  B&
B 8x8=__ B 8x11=___ B
E¥ 8x9=_ 1x8=__
I 11x8=___ = EX 8x7=___ EI
8x12=__ Mx8=__
12x8=__ 5x8=_
8x8=__ 3x8=__
B 10x8=___ = EX 2x8=____ EA
15} 7x8=___ B 8x7=_____ B
16 ] 8x6=____ EJ 4x8=___  E
8x3=__ 3x8=__
18] 8x1=___  EI 8x2=____ B
19 8x4=___  EHX 8x9=___ B
8x8=__ gx8=__  [@
22475 SCORE: |
questions?

© 2022-23 Maths Circle Ltd. Licensed to Windmill Hill Academy, Launceston.

Can learners spot links
between neighbouring

MULTIPLICATION 3

Practise 8s
8x9=

12x 8=

8x11=

7 x8=

1x8=

3x8=

8x12=

8x9

6x8

8x3

8x%x5

8x10=

5x8=
8x 8=
2x8=

4x8=
8x7=
8x9=

8x 8=

8X6=

=5



Name: MISSING NUMBERS 3
Date: Practise 8s
EN 8x _ =838 BN 8x ___ =32 BN 8x ______ =8
8x __ =96 BH12x______=9% BE¥11x______ =88
BY 7x =506 BE¥ 8x ___ =64 BN 8x =64
BN 8x _ =40 B¥ 7x _______ =56 B4 9x =72
B¥ ox = =72 BN 5x__ =40 EBEI8x____ =72
B 6x _ = =48 BH¥ 6x =48 E¥ 8x _______ =80
BN 8x _ = =48 B 8x _______ =16 BF 8x _______ =32
B 4x =32 BN 1x ___ = B 2x =16
E¥ ox _ = =72 BE¥ 8x ____ =80 EX 1x__ =8
I 3x _ =24 EW 8x __ =88 EW 8x ___ =64
By 8x _ =16 BN 9x __ =72 BN 6x =48
B 1x =8 B 4x _ =32 BX 4x =32
B 8x _ =8 BN 8x __ =24 B 8x ___ =40
Iy 8x _ =80 EX 8x __ =80 B¥ 8x __ =56
I 8x _ =88 B 8x __ =24 BH9x ___ =72
¥ 7x _ =56 E# 5x__ =40 BEF 8x ___ =88
5x _ =40 BN 8x =72 BH12x_______ =96
Iy 8x _ =64 B 4x =32 BF 8x =96
BBy 8x _ =32 E¥ 8x = EY 8x _ =56
8 X =56 6 X =48 [ 9x =72

Grown-ups:

Can learners spot links
[ between neighbouring
questions?

© 2022-23 Maths Circle Ltd. Licensed to Windmill Hill Academy, Launceston. 11
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%%
»
S
A
m
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DIVISION 3
Date: Practise 8s
56 +7= 9 + 8= 88+11=____
56+8=__ 48+8=__ 72+8=___
24+3=__ 72+8=___ 56+7=___
16+2=____ 56 +7=____ 88+11=____
72+8=___ 24+8=___ 88+8=__
B 32+4=__ 80+8=____ 8+1=___
80+8=____ 40+5=____ 80+8=__
B 88+11=___ 56+8=___ 72+9=__
E¥ 838+8=__ R+4=___ 64+8=__
56 +8=____ 48+8=____ 32+8=___
40+5=__ 32+8=__ 2+4=___
%+12=__ 24+3=__ 48+8=__
% +8=____ /2+9=___ 24+8=__
64+8=___ 80+8=_____ 56+8=__
88+8=_____ 88+8=____ 24+3=__
40+8=____ 56 +8=___ %+8=__
48+6=___ % +12=___ 48+8=__
24+8=__ 8+1=__ 40+8=______
24+3=__ 8+8=___ 16+2=___
72+9= 64 + 8= Y 16+8=

Grown-ups:
[ ] Can learners spot links
[ between neighbouring
questions?
12
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Name: MULTIPLICATION 4
Date: Practise 8s
8x12=____ 8x1=____ 3x8=___
8x11=___ 4x8=___ 2x8=__
8x8=___ 8x4=___ 8x8=___
8x9=__ 3x8=__ 4x8=__
/x8=___ 6x8=__ 2x8=__
[ 6| 5x8=__ 8x9=__ 8x1=__
8xb=____ 8x8=__ 8x1M1=____
B Ax8=__ 10x8=__ 8x12=__
EX 8x3=___ 8x11=____ /x8=__
3x8=___ 6x8=__ 8x10=__
8xb=____ 8xb=____ 8x4=__
8x7=___ 8x9=__ Ox8=__
8x10=____ 8x3=___ 8xb=__
12x8=__ 8x5=__ 8x8=__
8x11=____ 8x8=___ 8x4=__
8xb6=__ Mx8=__ 8x11=___
8x8=____ 100x8=___ 3x8=__
3x8=___ 8x1=___ 10x8=___
8x2=__ 8x2=__ 6x8=___
1x8= 5x8= (60 ] 8x9=

Grown-ups:
[ ] Can learners spot links
[ between neighbouring
questions?
13
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Name: MISSING NUMBERS 4
Date: Practise 8s
8 x =48 8 x =40 8 x =48
9 x =72 8 x =32 5 x =40
8 x = 64 3 x =24 8 x =80
4 x =32 6 X =48 8 x =

8 x =24 8 x =56 9 x =72
B 8x =40 8 x =40 8 x = 88
6 X =48 8 x =72 7 =56
E¥N 8x =8 8 x =64 3 X =24
EN 8x =16 8 x = 2 =16
8 x =80 EJ¥ 12 x =96 8 x =32
B 12 x =96 8 x =24 5 x =40
8 x =48 2 X =16 8 x =48
8 x =56 6 X =48 8 x =80
1 x =8 8 X =16 ¥ 12 % =96
8 x =16 8 x = 1 x =

8 x =88 EF 12 x =96 8 x =80
9 x =72 9 x =72 9 x =72
8 X =80 8 X =32 8 X =32
6 X =48 8 x =24 8 x =56
8 X =56 8 X =64 By 7 =56

Grown-ups:
[ ] Can learners spot links
[ between neighbouring
questions?
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Name: DIVISION 4
Date: Practise 8s
96 + 8 = 80+8= %+8=__
48+8=____ %+8=__ 8+1=___
8+1=___ 88+11=____ 8+8=__
8+8=___ 56 +8=____ 32+8=___
/2+9=___ 56 +7=___ 56 +7=___
B 64+8=__ 32+8=_______ 56+8=__
0+8=_____ 40+8=_____ /2+9=__
E¥ 48+6=__ /2+8=____ 80+8=___
E¥ 56+7=__ /2+9=___ 88+8=___
80+8=____ 64+8=___ 16+8=__
24+3=__ 48+8=__ 88+11=___
16+2=___ 32+4=___ 24+8=___
40+8=_____ 8+8=___ %+12=___
48+8=____ 40+5=____ 32+8=___
72+8=____ 56 +7=____ 56 +8=__
32+8=_______ 16+8=____ 48+6=__
32+4=___ /2+9=___ 8+8=___
64+8=___ 24+8=____ 16+2=__
8+8=___ 88+11=___ 80+8=__
9% +12= 48 + 6 = (60 8+1=

Grown-ups:
[ ] Can learners spot links
[ between neighbouring
questions?
15

© 2022-23 Maths Circle Ltd. Licensed to Windmill Hill Academy, Launceston.



Name:

B CHECK 2 ..

8x9=___ 8x3=___ 8+8=__
8x4=__ 8x8=__ 72+8=___
8x12=____ 8x2=___ 56+8=__
8x3=___ 8x4=___ 88+8=__
8xb6=____ 8x8=__ 16+8=___
B 38x10=___ 8xb=____ 56+8=__
8x12=____ 8x12=_____ %+8=__
B 8x2=__ 8x5=__ 8+8=__
Ex 8x6=___ 8x1=___ 24+8=__
8x8=___ 8x7=____ 64+8=__
8xd4=__ 72+8=__ 32+8=___
8x5=___ 40+8=____ 56+8=__
8x/7=____ 32+8=_______ 24+8=___
8xb6=____ 80+8=____ 88+8=___
8x10=____ 8+8=_____ 80+8=__
8x12=____ 24+8=___ 40+8=___
8x1=____ 48+8=____ 16+8=___
8x11=___ 56+8=___ 56+8=__
8x9=___ 40+8=_____ 48+8=___
8x/=_____ 64 + 8= 60 ] 8+8=

seore: /60 1) ¥

(5 minute limit)
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